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LO: To multiply by 10 
9 x 10 = 
57 x 10 = 
1.62 x 10 = 
20 x 10 = 
3.5 x 10 =
893 x 10 =
0.46 x 10  =
63.2 x 10 =
Always, Sometimes, Never
If you write a whole number in a place value grid and multiply it by 10, all the digits move one place to the right. 




Write what the four missing digits could be. 
4

×
10
=









Erika has multiplied a whole number by 10. 
Her answer is between 250 and 320. 
What could her original calculation be?
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plain candles star candles stripe candles
35p each 60p each 85p each

‘Sapna buys 4 star candles and 2 stripe candies

How much does she pay altogether?

Show

your
method

2marks

spocmnmw
Buy 10 candles and get 50p of

S
Josh buys 10 plain candles in the special offer

How much does he pay for the 10 candies?
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